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Time: 3 hrs. M.M: 80
GENERAL INSTRUCTIONS:

1) This question paper contains 34 questions.
2) Marks are indicated against each question.

3) Answers should be brief and to the point.

4) Answers to the questions carrying 3 marks may be from 50 to 75 words.

5) Answers to the questions carrying 4 marks may be about 150 words.
6) Answers to the questions carrying 6 marks may be about 200 words.
7) Attempt all parts of the questions together.
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Question

Mar
ks

Profits do not have to be shared. This statement refers to.......
(a) Partnership (b) Joint Hindu Family Business

(c) Sole Proprietorship (d) Company

AT ASTT AT ST 161 . Tg el Hafdd FATS.......

(Q) @it (&) T fég TRaR cgadr

(@) Tehel TATTACT (3)) U=

[Provision of residential accommodation to the members at reasonable rates
is the objective of........

(a) Producer’s cooperative (b) Consumer’s cooperative

(c) Housing cooperative (d) Credit cooperative
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3 [Match the following: -

A) spice route i) A negotiable financial instrument
b) Hundi ii) Network of roads
c) Peshawar iii) Maritime route
d) Silk Route iv) an important exporting Centre
IGEGIGECGEING RIS
a) TATSH®RCI) Uah fa<drT |
b) &ar ii) ST T cdh
SREIEES ii) %mﬁ:m?‘r
d) Res & iv) Uehagcaqut fraid &g

A) a —ii, b-i, c-iv, d-iii
B) a —iii, b-i, c-ii, d-iv
C) a —iii, b-i, c-iv, d-ii
D) a —ii, b-i, c-iii, d-iv

4 |Global Industries is involved in soap and shampoo manufacturing. In which
industries is the company involved.

(a) Synthetic Industry (b) Analytical Industry

(c) Extractive Industry (d) Processing Industry

Tolleel SSECIST AT 3R A+ FATOT & enfder B mﬁmmﬁﬁaﬁr‘@
(0) Frafes 37:311?T (&) ReaNUTcHS 33T

(&) forsehvoT 3T (3Y) TEERIOT 3eATT

5 |Geeta has Rs.20,000 in her account. She doesn’'t have any use of these for
two years. To earn more interest which type of bank account she would be
opened with the bank?

(a) Recurring Deposit (b) Fixed Deposit

(c) Current Account (d) Saving Account

AT o W 7 20 §9TR T9Y g &T ATl & 3o STl hig 3UANIT oIgT [hdT & |
318 sTTeT AT Xt & foIt 38 fohd TR T o @IaT doh 7 @il A1fge?
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6 [The shares of a ‘Government Company’ are purchased in the name of....
(a) Prime Minister of India (b) President of India

(c) Chief Minister of the India (d) Finance Minister of India

HIHNT AT o QAT fohdeh oATH 9T TG ST 3.

(T) IR o TenTaT F3Y () IR o Iseafa
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Ankit's warehouse was covered by a fire insurance policy of X 10, 00,000,
two years back, his warehouse caught fire. Ankit, immediately called up the
nearest fire station and started removing the goods from warehouse in order
to save them from fire. He took all reasonable steps to minimise the loss or
damage. As a result, the actual loss by fire to him was * %3, 00,000 which
could have gone up to * %7, 00,000, if he had not acted as a prudent person.
After scrutiny of the loss, the insurance company handed over the cheque of
"% 3, 00,000 to Ankit. Identify and state the principle of insurance, which was
followed by Ankit in the given case?

(a) Subrogation (b) Mitigation

(c) Contribution (d) Proximate cause

3iTehd o MGTA % 10,00,000 I 3731 SIAT TiferdT GaT Fax fehdT aram 2T, ar
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Direction (Q.Nos. 8 and 9) There are two statements marked as Assertion
(A) and Reason (R). Read the statements and choose the appropriate
option from the options given below

A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A)

(C) Assertion (A) is true, but Reason (R) is false

(D) Assertion (A) is false, but Reason (R) is true

Assertion (A) It is in the long-term interest of a business to assume social
responsibility.

Reason (R) Better social relationship improves its public image and
prospects of growth in the long-run.

GIaT (T) ATHATTOT ToTFHGHT THTT Ush cIaHTY o GlehlTolsh [od & ¢
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Assertion (A) Life insurance is a contract of indemnity.

Reason (R) According to principle of indemnity, the insured is entitled to
recover the extent of the loss suffered by him, up to the limit of the amount
covered by the

TTRRUT (T) Siaet AT &Tfaqfc 1 Teh 3rqeer g
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10

Which of the following is not related to One Person Company?

(A) No person shall be eligible to incorporate more than a One Person
Company or become nominee in more than one such company.

(B) No minor shall become member or nominee of the One Person
Company or can hold share with beneficial interest.

(C) Such company cannot be incorporated or converted into a company
under Section 8 of the Act.

(D) Such company can carry out Non-Banking Financial Investment
activities including investment in securities of anybody corporates.

AT # & SieT IoT THT il & Haftd 761 872 .

(T) 15 3 SITFT Uah & 31T hYeiT T ATTHT et AT Teh F T¥h 0T hoelr
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foaer AT 1 375 & Thll B

11

OLX market place is a platform for buying and selling services and goods
such as electronics, furniture, household goods, cars and bikes. It connects
local people to buy, sell or exchange used goods by making it fast and easy
for anyone to post a advertisement through their mobile phone or on the
web. Identify the component of e—business being described in the given
case..

a)C2C b) B2B

c)B2C d) Intra-B Commerce
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12

Mercury Ltd. decided to donate 2% of its sales to Child Rights and You
(CRY) for improving the condition of children in India. This initiative by the
company was highly appreciated by the public and their sales increased by
10%. ldentify the interest group towards which Mercury Ltd. is discharging
its social responsibility?

(a) Owners (b) Workers

(c) Community or society (d) Consumers

AR faffcs & TRa # STt fr Fufa 7 gur & forw 3r9 f96hT &1 2% a1ses
RIS<H U5 I (CRY) Y &l et o1 Ty fofam| sl 1 33 dget Y ottt o
SRIthT TRTET 31N 37T fdhT & 10% T Jgrad a5 | 39 T GHg $1 ggare i
e i 7R fafAs 3rael arfors fFierY & [des e @I
WEIGEXCUEIGED
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13

\Which auxiliary to trade bridges the time gap between production and
consumption?

(a) Advertising(b) Banking

(c) Insurance (d) Warehousing

CATIR T ShlsT AT eI 3cUTGeT 3R ITHNIT & &1 o GAT & A I AT
T 872

(7) faamaeT (o) SfRer

(@) AT (31) HSROT

14

Rohit and Gurvinder are partners selling electronic products across India.
They import the components from their friend Atul who operates his
business from China and assembles them in their factory established in a
rural area of Jharkhand. On the basis of the given information about Rohit
and Gurvinder, specify the type of business activity being performed by Atul.

(a) Import trade (b) Entrepot trade
(c) Industry (d) Export trade

ﬂ%ﬁwmﬁmﬁsﬁ%ud* 3cUTE ST dTol HI‘QET%*I 33N?T
CIE 3ol ki) ECehl “GRT 37T R & ST el & 39T SIaaTs Farfard aid &
3R 37 SIRES & UF ATHIUT Solteh 3 TATTIT et FRETeT 7 3T X B
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15

A person is considered a ............. partner if, through his/her own initiative,
conductor behaviour, he/she gives an impression to others that he/she is a
partner of the firm.

(a) active (b) sleeping or dormant
(c) secret (d) partner by estoppel

Teh ATFT Al ... HIAT ST g | HAeNeR IS, 3960 ggel, HdTelsh cIdgR
ch ATEIH O, T8 GERI ol Tg JTHIH & & Toh a8 ®al o1 eMeR &

(7) Efeha s1mafieR () TSR smefieR

(HT) I HATANGR (31) Taaere qary SATeieR

16

Ethical responsibility of a business includes

(a) Behavior of firm that is expected by the society.

(b) Produce goods and services that society wants.

(c) Voluntary obligations that a society assumes.

(d) Paying various statutory dues.

fAFATI AT 3 & il AT Ueh STAATT T ATcieh [OIFHGRT &
(T) T ST STAgR ST THATST GaRT 34faid g
( )Hawﬁﬁ?@msﬁwmﬁa’wam SRR
(@) T efiica St Ueh FaTST AT 1

(1) faffiest denferen Sehra T $7aTcTeT e
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e defines the rules regardmg Internal management of a company.
(a) Articles of association (b) Partnership deed
(c) Memorandum of association (d) Certificate of incorporation

........ Tordl ShusiT & 3TARE Yt @ G AT Sl TRATTNT AT B |

YEGIGRLEIEE]
o) Irsiery faerg
GUREGRIEE
(3) fA9THT 90T g
18 [TATA Ltd. Purchased tyres from MRF Ltd. This is an example of ........
a) B2C Commerce c) C2C Commerce
b) INTRAB d) B2B Commerce
cTeT ToIfHes of THARUG faffics A TR WG| TE ... T Ueh 3GTeX0T B |
Q) S8 HIA AY) H2H HlAT
aT) ST & 3Y) S2s dray
19 [Your friend has joined as a manager in a company where conduct of

Industry, trade and commerce is done using the computer network. Out of




the tollowing options which is the right term to explain the aforesaid
company?

(a) E-business (b) E-commerce

(c) E-trade (d) E-industry

31T9ehT 8T Teh ﬂ@mﬁﬁw%wﬁ&nﬁﬁgmﬁmw IR
3] aTfOTs sl eTelel el Yo T 3TN o FRAT AT &1 ST
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Which responsibility of the business is not the responsibility of the business
to the government?

(a) Following the pollution laws as set by the government.

(b) Establishment of the industrial undertaking as per the government
norms.

(c) Providing after sales service.

(d) Payment of taxes, fees, surcharge etc with the honesty.
TG T it Al THFAGRT AIHR & ITd sTaH i THTFAGRT 61 872
(T) O¥pR cdI BRG] ECA) chlo-lo-ll T YTcle] haT|
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Unlike a partnership or a sole proprietorship firm, this form of business
organisation is separate from its owners. It is a separate legal entity and no
single member is liable for such an organisation’s activitiesSuch a firm will
not depend on any owner or shareholder to decide its future course of
action. Irrespective of members come and go; shares are bought and sold,
dividends are earned and distributed; such a form of business organisation
goes on. It is managed democratically, by the representatives chosen from
the shareholders.

a) ldentify the form of business organisation highlighted in the above case.
b) Mention and explain any two features of that form of organisation
highlighted in above case.

ASIGRT AT TholEdTTacd & [dURId, SATaATAS TSl T Tg &I 3Th
FHTTeIehT T 37eT9T 81T &1 T8 T 3l Hlefell SIS & 3R T s A
AT & ToIT 1S 8ff Uk TEET 3TRERY oTal & | VAT Ba 39T H1fasy dr
hILATS T 0T ot & forw fordY A1fois a1 Qe WX AR 78T et amg
ehls HY TETT 3 3R S PR @I 3R o AT &, areArer 31fora 3R faaika

1+2=
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AlehcITeh dleh § AIXURHT H § Il 3T JAfATIAT carT fomam Siram g

a)WWﬁWﬁw‘UWWHdIOd & TIET T UgTT |
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Explain various (any3) services provided under postal services

STeh TAT3IT o dgd UGl ehT SiTel ATl [afHeeT (PIS 3) TAT3T I cIARET Y
Or

Explain the following:-

i) TelecomServices ii) DTH iii) VSAT

AT T &l GHSTST
i) ColiepiaT FTaAT) ii) srerw=(iil) die

23

Indian railway is a part of railway ministry. It is organised, financed and
controlled by railway ministry. The finances are allocated from government
treasury and whatever revenue it earns is deposited to government treasury
only. It is treated as a part of government and even the appointment,
recruitment and selection of employees is done in the same way as that of
civil servant.

Name the type of public sector enterprise railway belongs to? Also write any
2 merits of the same.

TR YeTd Yol AT T Ueh [REAT & | SHRT AT, far 9wt 3R fag=or
ol HATST SaRT TohaT SATAT 8| o TXhRY @alle § HTafed foham Srar g 3R Sy
sfT ToTEa 31T 81T § 98 TRPRT Wollel H &7 STAT T SATAT 1 39 TR Hl
Teh TEEAT ATAT ST & 3R g1 deh foh sheqanRat hr g, a7clt 3R wrer o
fafaer dae & g & fhar STar g1

old Tehe Aot leieh &1 & 3eTH W HaTtd § SHeT oATH SATI? SHeb g AT I[0T
Y faf@T|

TH2=

[ 24 |Distinguish between E-business and Traditional business (any 3).

S-cgaaTy 3R IRUR cIaq™T & & AR a1 (15 3)|
Or
\Write a note on scope of e-business.

S-faetald & g IR T Hle o |

25

“Profit is not an object of business but a requirement of business.” Do you
agree with this statement? Support your answer with reasons.
“FATHT STHTT hl TE] 76T Siceh AT T ATl §|” AT T SH ST

ﬁm%?mmwwéﬁaéﬁa%aﬁ

Or




[Name any 4 major trade centres of ancient India and explain for what they

were famous.

Ui TR o fohegl IR YW IR dhogl & ATH ddisd AR Fasd fh a
9

e SROT 8 9gYy 2|
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[Distinguish between Memorandum of Association and Articles of
Association on the basis of (i) Significance (ii) Objective (iii) Relationship (iv)
Necessity

e TAT T vd arde 3aferas & Reafafad et & MR o X
ff@U| &) Agcd W) 32T ) HIY  ©) IGeTehdl

Or

Distinguish between Private Companies and Public Company on the basis
of i) transfer of shares ii) Commencement of business iii) members iv) public
subscription.

fo¥sit shaferail 3R ATSTforeh il & & 3R e fSeg3i & TR =
3R faf@T

i) QIR & GEATCROT ii) STAHII T 3T iii) HGEAT iv) AIolfoteh HGEI T

27

In a survey conducted by Government of India, it was found that many
farmers of the country are unable to secure loan for their agricultural needs.
Keeping this in mind, the government decided to form a public enterprise
under a Special Act of the Parliament, which will be free from government
interference and will have financial and operational autonomy.

a) Which type of public enterprise would you suggest to the government?

b) Explain various characteristic (any3) of such type of publlc enterprise.
HR T TIHR GART TV ITT Ueh FI&TOT H T 91T 3737 foh 2 o g fohared

m?ﬁasfﬁrmamﬁésﬁmwaﬁﬁmé%lsﬁwaﬁwﬁw
TR & TG & Toh AN RATIA & e Ueh ATdoiioieh SEIH Felley Sl
GREAGEI ﬁwﬁmﬁq@rmmaﬂ?sﬂﬁﬁ?ﬁwmmﬂ
EATIAT gt

) 3T TXHR I vl TR & HIdSI Aok SEIH T ST 312
)wwémmﬁﬁfﬁ?%ﬂqﬂaﬁ (FIS3) ST SITEAT FY|

28

hat do you mean by E-business. Appreciate any three benefits o
e-business.

5-cgaaTy I 3119 4T HHSTA 87 5-cTaaTT o fohoal dlel ITHT Sl TTGAT |
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[Deepak has taken fire insurance policy of - 9, 00,000 for his factory. Due to
fire, he suffered a loss of * %6, 00,000. He claimed the loss from the
insurance company and he gets the compensation within a month. Goods

2+2=




that were lost by fire were scrapped for * X70,000. Deepak wants to keep
this money with himself, while the insurnace company claims that * ¥70,000
should be handed over to the company.

a)ldentify and explain the principle of insurance which is applicable is the
given case

B) mention two other principles of insurance other than above

Eeh o 379a) SRWET & forw T 9,00,000 1 31737 AT giferd) off &1 37T oo

o 3¢ 2 6,00, 000 ST e aTeT E3T| 3egiel STHT hUiT & JehdTeT T el foha
ﬁwnﬁﬁ%aﬂmﬂmﬁa?mlmﬁsﬁwmﬁw 39

% 70,000 3 7S¢ T T 14T cIgeh I 9T 39 919 I@AT A8 dT g, STefh

SINY hYsil T G1aT g Toh 270,000 HYaiT &l ¢ TGT ST,

T) STAT o [AGHTd &1 Ugdiel 3R IdTT, [STHeRT dTelel f&T 1T ATA 7 3ifehd o

7|
oiT) 3T o 3TlTdT STAT & Gl 31T AUl T 3eeld &
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he Government of India has entered into a contract with a private sector|
company for developing a national highway. Under which the company will
develop the highway and charge toll tax from vehicles plying on it. Name the
form under which such a project is undertaken and explain any three of its
features.
SR TR oIl 813 hr shufardl & THSIAT Hih TSET TSTHTN oh [dehT 1]
Ao ot § foaa fAsh egelt TarAreT &1 fAAor el Ud 39 @) IR daTel
aTeelt & TUE TN TAEET ¥ 3W YER $r carear Ao o s
RATSTAT I 1 GIoTT | 3HPT flet faLwerait o ot ford |
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hy Is partnership considered by some to be relatively unpopular form of

business ownership? Explain the merits and limitations of partnership?

ATSICRY Y $© AT SaRT AT FAITACT T 31987 AT &9 FT
T ST &7 TeYerdy & 907 3R HATT Fare?
Or

Roshni is a sole proprietor. her business has grown from operating a
neighbourhood corner shop selling accessories to retail chain with three
branches in the city. Although she looks after the various functions in all the
branches, she is wondering whether she should form a company to manage
her business better. She also plans to open branches countrywide.

(i)  Explain three benefits of remaining in a sole proprietorship.

(i)  Explain three benefits of converting to a Joint Stock Company.




NIRTAT Uchol FATHcd cAdHTTh] Hlleleh & | 3HDT cIdHTT UsSIH h chled H HTHTe
Sel dTell Gohlel H oIy 2GR H clleT ATWISHT aTell YeT HWell e ¢ AT
%Imﬁagﬂaﬂ%maﬁﬁﬁfﬁ—rrasﬁaﬁa'@?ﬁ% I8 QT T ¥ B 3Y
379eY STGATT Y AgaR &9T & YT el & FIT Teh et SeTTal) TR | g 320
9T ATETT Wty T HY ASTeAT FaAT T T

(i) Tehol TATM AT H Sl Iga1 o dlel oITHT hl SITET ShITAT|

(ii) Tl Feieh U= H TRATIA Blet oh cliet o1l shr ITET HITST

32

\What is the meaning of social responsibility? Enumerate any four important

factors forcing business to undertake social responsibilities.

or

A vehicle manufacturing company had adopted the following practices:

(i) Only those vehicles will be used by the company which is
environment-friendly.

(i)  There will be discharge of harmful wasted only after their proper
treatment.

(iii) Pollution level of every vehicle will be maintained as per
international standards.

Identify and explain the aspect of business and its need.

ATATSTeh 3TREIRcd T T 1Y §7? ST &l ATH oo el dcd [T &

forT Ses &het arel fohogl TR HEcdqOT ShRehl T ITUTAT |

or

Teh dTge] [dHT0T Shdail of ToleeTTol [T TAT3HT Sl 3TTATIT 2T:

(i) ST SART Sha el 3egi ATgslT BT ST fhT SITTIT S GHTAOT & IHelohel 81|

(ii) gTfehRer 379fASe} & 3T ITIR A & T & 31T fAdeT Tl

(iii) ek ATET T FGHOT T ARSI HIAhI a~73-|a-|{-ll{ §ATT I@T ST |

SHTHT & g el I SHehT ITaRTehll hl TgdTel 3 gH=T |
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hree friends Arun, Tarun and Varun are engaged in different types of
activities to earn their livelihood. Arun describes his occupation by saying
that, transfer of interest is not possible in case of my occupation and at the
same time it does not require any capital investment." Tarun remarks," in my
occupation also transfer of interest is not possible, but one needs to possess
high degree of specialised knowledge in a particular field. Varun shares that,
in his occupation transfer of interest is possible with some formalities and
also capital investment is essential. In context of the above case:

a)ldentify and explain the type of economic activity that these three friends
are engaged in.

(b) Explain any three difference between the economic activities identify in

above paragraph.




AleT GI¥d 31901, d&UT I d00T 19all Tolildhl chHlel oh 1010 1d1dHoa] JhIX ohl
arfafaferat & e gU &1 31307 319a ST T guTel hid 'g’trehsc‘l g M
STEETT & HTHS & ATl T gEaiaR0T THT 78T & 31 arer &) so fore iy
it Q2T T 3TTaedendl 81 & 1" d&0T feequll shid &, "AY cFaar # 8l saref
T §EATAYUT T oT6T g, oifche] Ueh fohdl AW &1 H 3= TaX o fAfdse A
GBIl TR & | TX0T ATl § Toh, 3eTch SAAHT H H© INTATRAATHT 5 I
mwmwam%aﬂwsﬁﬁa‘eraﬁmawﬁwma:wa&
-
) e FA fordr Srohr b 3mfais aTfafafer & oY g &, 38 9gam 3R
HHST|

(&) IRTFd REME 7 ggar=i 15 3w afafafeat & & s i 37w Tase
hY |

[ 34 [Bharat Heavy Electricals Limited (BHEL) owned and founded by the 1+1+
Government of India, is an engineering and manufacturing company based |1+3=
in New Delhi, India. It was established in 1964. BHEL is India’s largest 6

power generation equipment manufacturer. It is managed by the board of
directors nominated by the government. As government is the majority
shareholder, it exercises control over the affairs of the company

a) How will you classify BHEL as a form of public sector enterprise?

b) BHEL was formed according to which Act?

c) The board of directors of the company are appointed by

d) Mention and explain any 3 limitations of above identified form of
enterprise.

$TRC gdl Solfacahed [afdes (fITIST) IRT TSR & FaTtacd iR Tarfua
2, 715 feed, R & f&a ve Sanferafier 3iiv RAfe@ATr hoeh §1 ST T2mger
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